Math 229 Quiz 2a

. You may use only Julia or math229.github.io — no other websites.

NAME: Soluhans

Problem 1.

Define the function f(z) = 3cos(2z — 1) + zlog(z)

1 — 22

Fx) :(3* @s (2R 1*1,3(1,))/0 — x'\z)

in Julia.

Compute the following values. Round answers to 4 decimal places.

f(3)=_—0-51%36 f(=1) = _ Donsain eV’

f(e?)=_=— O~ 9511 f(r/2) = 0 62.[?,[

Problem 2.
The ternary operator is as follows: predicate 7 expressionl : expression2
For example, function f(t) can be defined in Juliaby £(t) = t <= 10 ? t : 1-t72

2z

() P -312-2 <2
5l =
5 e¥®lginz z>2

Express g(z) in Julia using the ternary operator.

()= %<2 7 AMs-2axhe-1 eq)(zxx-u)*ah(x)

:

Compute the following values. Round answers to 4 decimal places.

gy =__ = 5-633lb o)) = = ST

o(vB)=___ 15333l o(vm) =__— 385645
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Compute the following values. Round answers to 4 decimal places.

f(3)=__0-5151%F f(=1) = __ Doaodu Evev
fle)=_9: K‘;“‘l’ f(x/2)=___|-2\020
Problem 2.

The ternary operator is as follows: predicate ? expressionl : expression2
For example, function f(¢) can be defined in Juliaby £(t) = t <= 10 ? t : 1-t72

x—2

2 +222 -4 <2
g(z) =
e COS T =2

Express g(z) in Julia using the ternary operator.

‘3("")3 2<3 T ¥Mla laxti-% ¢ ex?(«.-;,)xm(m)

Compute the following values. Round answers to 4 decimal places.

g(e'’?) = & S-A\8LS g(m/2) = ‘-fﬂ'loﬂ

o(v3) =___ =0 31(¢3 gl = TIEISY




